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seooflsd / MATHEMATICS
( &8 whobd yhfle aifl / Tamil & English Versions )
Cry : 2; weoon | _ [ Qurés LGS : 100

- Time Allowed : 2; Hours ] [ Maximum Marks : 100

Yleyer : soass olaomssesd sflurs uford) o steraT adETUBe FALTTSEEH
Qerereraid. SEsiudlale Gopllpula, oon susTaiturerfl b
2 Lednqurad Qafalsbaa.

Instruction : Check the question paper for fairness of printing. If there\is any lack of
fairness, inform the Hall Supervisor immediately.

Clurgsesluyser - ;
i) ebleur® uGHUed Cer@Eéesiu Gerer GBllLsaleTuy elaL welsaean.
ii) demssamse 2 galiugsed Csomaru@urdld ( Spoa oL ssmefer
USSRIS 6N o1 ILTESHEG 6rapsayb.
i) Caieuemplles oefllesiu@d LLHDS, @esCaTaTallcd S L 616608 e

GG LwsTUNSS CeustorHib.
General Instructions : :
i) Answer the questions according te the instructions given in each part.
ii) The rough work may be done if{néeessary. at the bottom of the pages in
the answer sheet. '
iii)  The logarithmic and trigonemetric tables issued at the examination hall
alone should be used.

= u@s! - o / PART - A

" (wdiQuesoiger : 15 ) / ( Marks : 15 ) 15 x 1=15

Golyser : ¢

i) Syoarss alomssahsob alaol wellssan. . :

i) mreaie wipprelorsde sflutear owes BanQuressorar eloL Neer
Cotb6lsHS siue (wsayb. :

Instructionsy:

i) Answeérall the questions.
i) €heose and write the correct or most appropriate answer among the four
alternatives.
1. TP +5+..... areiD GlBTLT QerEeltler (e 20 2 nliLser susTillerer snHse

1) 210 2) 400

3) -400 4 250

The sum of first 20 terms in the series 1 + 3 +5 + ... is

Bl 210 2) 400

3) -400 : ; 4)  250.
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2
Sl e e dnl BSOS euflewsllest Qurg alé&lwmrsid

T ' 2) -2

The common difference of the AP. 3,1,-1,-3 ..... is
Iy 2 - )

ajudli= ' 4) 3.
3

&® Carargdlear b 1 Q& .15 eaaflér @t euameruyliyy( &. Q& i5. & )

4

) 2)  4nr?
3

3) 4n , a) /' 3nr?.

Surface area of a sphere of radius 1 cm«( in cm? ) is

1) 4 n 2)  4nr?
3
3) 4n 4) 3mur?.

ereQaIm® semrd A &@b AWA' aarug

) A ARy Sy

2 Y. : 4) SIS SEOID.
For any set A, AU Al is -

Lhp |4 e N L

3) W | 4) Un_i‘versal set.
A-(BUC lers&rugi

1) (A-B)U(A-C) 2} (A-BIALA=C)
sy ThAS By ' 4) ‘(a-Binc.
"A-(BUC)is

L1y A-BYOIASC) . 9) CA-BIO(A-C)

3) (A-B)UC | 4 (A-B)NC,
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3a’b, 15ab? & 15.Qur.al.
1y -gab i} 2) 15a’b®
3} 8a’p® ‘ 4) 3ab?.
G.C.D. of 3a’b, 15ab? is
1) w3'ab 2) 15a*b?
3) 3a’b? 4) 3ab’.
36a® & autésapeid
j 6a® | 21 - 18¢®
3}, y6@* | | 4], mat
The square root of 36a® is
1) 6a'® - 2) 18 g8
3) 6at NN
2x + y = 10 @)év 2 66T 6 Leief
1) (-5,2) 2)  (52)
3) (2.5} 4) (2,-b5).
A pointon 2x + y = 10 is
I ) 52y 2). {5, %)
3] (2:8) 4) (2,-5)
-@@ alLErperssle onm Caramd 70° aalle, Sipar adli Caremn ojemay
1) 9o - 2) 110°
3N140° | 4) 160°.
~ If one angle of a cyclic quadrilateral is 70° then the angle opposite to it, is
1) 20" 2)  110°

3) 140° ’ 4) ~160°.

[ Turn over


www.studyguideindia.com

8017

10.

140

)il

4

6 FaIrdder poaallLd 42 1§ aaflér, oigen uSs SfeTey

1) 48 2) 84218

3) 2 ' 4) 84

The length of the diagonal of a square is 42 m. Then the length of the'side is
) 4m . e

3} - AZm 4) 8 m.

4x -3y = k er@gjlb CriCasr® (1, 1) &7 b yeirefl eufiCw Qecveyomiles k a1 wy
) 2 ' I\ —2

3) 1 : 4) ~1.

If the straight line 4x — 3y = k passes through the point ( 1, 1 ) then k is

1. 2 ' 2y =2

3) 1 _ 4y g

smiey 5 & OareorLgib. el Qadaugiorer Caml e gweTur®
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13.

14.

5.

5 ' 8017

s
.

sin 0 = 5 ereotlén, 0-651 WY

1) 60° ' 2y 30°
3) 45° ' 4) 90°.
If sin 6 = % then the value of 0 is

1) 60° 2y 307
3) 45° 4) 90°.

o® yereNalasdlar Halassd 4 Gb. g eCleurp wBlloLYD 3 246
QumsHarme HeaoLssalmpeeh Hu S L alessbd

0 8 | gy
3 7 | 4

The standard deviation of a data is 4. If each/of the data is multiplied by 3, then

the new standard deviation is

G 2

BT AT 12

S UBHDL oW @@@mm 2B QbCuTE LET eTetor Sl &8 hHDPHH6

1) 2)

B | —

3) 4)

Wi W=
o | =

A die'is rolled once. The probability of getting a prime number is

1) 2)

3) 4)

Wi W
| = N~
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16.

-7

18.

19.

UG& - 3y / PART - B
(wuQueTser : 20 ) / ( Marks : 20 ) 10x2 =20
CLZES
gGsgub UHE aleTTéeEH&HE WL [Hid aleoL weléaea.

Instruction :

_Answer any ten questions.

64, 16,4, ... aan QUEBESS CerLi aflosliar 5 aigl 2 Yol sreos.

12 +22 4+ 3% + ...+ 10? & wELYS sreTs.

Find the value of 1% + 22 + 32" %w... + 102,

26 ambller o714 Qe 15 pHPId BBt 2 Wb 24 Q8 5. oiEes 801 2{ST6 BHITETITE: .

The radius and the height of a cone are 14 ¢cm and-24 cm respectively. Find the

volume.

A={1.3.5. 7L B={lk2 4 6, 8}wppb C={1,3,6,8}aall®s AU(BNC)

SHITCO0TSH .

_ 1fA={I.3.5.7}.B='{1,2.4,6._8}andC={1.3.6.8}.fmdAU{Br‘IC}.
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20.

20

22,

23.

24.

25

7 8017

A-(BUC) & GeusoiuL b euenns.
Draw the Venn diagram for A - (B U C).
(x+1)osig x>+ mx? +19x + 12-661 @ STy aeiley, m e DSILIDUS HTETTE .

If (x + 1) is a factor of x° + mx? + 19x + 12, determine the value of m.

X
e el

X+Yy Xx+y

0 G (H&HSHE -

Simplify : f J
X+y XxX+y

‘G LHTeUD’ - UTWNISHS .

Define ‘project duration’.

10 Q8. oyueien e Lgha, 12 Gle.§ pengpeien pbredor, eulL owusHS e HH)
aTelieuaTe) GTISHHe QHBEGD ereté ST (5.

How far is a chord of length 12 cm away from the centre of a circle of radius

10 cm 2

A ABC Oé DE ||BC. AD = 6, DB = 10, AE = 3 araflés AC &reo1s.

In A ABC, DE ||BC. AD = 6, DB = 10, AE = 3. Find AC.
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26.

27.

28.

29.

30.

8

(=1.-3)(2. 1) wpod ( 2, - 4 ) eetip yefrefleemen 2 sdlamemmasd QamesorL

W&Camanigdlar KH&ECHTLH owwd &res.

Find the centroid of the triangle whose vertices are ( — 1, — 3 2, 1 ) and
(2,-4).

(5, 1) wpmid (-2, 2) yélu yeieflssr ayflurss Gedmed Coriligest sweTUT. e &
&ITGOOT .

Find the equation of the line which passes ‘through the points ( 5, 1 ) and
-2 2

Si-Leueemrawl LuSTURSS) sin 64°42' + cos 42°20' &1 IS e BiraDIs.

Find the value of sin 64°42"% cos 42°20’ . by using Trigonometric tables.

o® Letefl allaiysdler SuCUBLAHI 98, 2t a¥és 73 aafley, 858y wHevLS
&ITCO0T &> .

Thedargest value of a data is 98. If the range of the data is 73, find the smallest
value of the data.

Qo preownsoer Cr GCrrsdéd scu@b GCurs QUeTh seoeasr allugd
blepéfullet K& pesey sreairs.

Two coins are tossed simultaneously. What is the probability of getting two

heads ?
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U@l - @) / PART - C
(wHLGesors6i : 45 ) / ( Marks : 45 ) ‘ 9x5 =45

eoliyser :

i)

gGa@ib @etug alamésense oL welssab.

i) Coomewrer alamés@née UL ks auiys.

Instructions :

i) Answer any nine questions.

ii) Draw diagrams wherever necessary.

<) 400 &@b 600 &EbD @eLCu 9-61 LB SR EHG 61600156 6dT
Fal_(HLILIGUEDT &ITEooT&.

2Z/eVevg)
: 2 2 2 Phis e :
<) 167 +17° +18% + ... + 30° & v BT,
a) Find the sum of all multiples of 9 between'400 and 600.
OR

b) Find the value of 16% + 172 + 182 . + 302,

S) 96 Ourbew, SrsCaTasder e Galdly aUSS augaler 2 efiengl. Faibillesr
470 21 Q.5 whnb sriwrnd 10 Qe .18, Qurbele CUEDISTLITLIL| &ITET0T&.

2fevevg)

Q) 96 ors Careniumsdysser 247b 30 Qs.f. SUUTEHHTD WUPILEESID
Cemliysenlp dlytliiu Qeterg. <i&Camiyé wmeop 5 Q.S Sywpb, 2 Qi
2 Wb, QST 2 meer euges Gemiiys BLYHENTE 2 (heuTdelermey
erHGemet, GEmliLs &L 1gs6T S &@b

a) _Aoyis in the form of a, cone mounted on a hemisphere. The radius and the
slant height of the cone are 21 cm and 10 cm respectively. Find its surface
area. =

OR
b) A hemispherical bowl of radius 30 cm is fully filled with soap paste. If this

paste is made into cylindrical soap cakes, each of radius 5 cm and height
2 cm, how many cakes do we get ?
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33.

34.

)

21)

a)

b)

3)

2)

a)

b)

10
A-(BUC)=({A=B)N(A=C)eaep o riseier alfleow GleueorL b

cpould & AU ée,.

Sjeeg)
oG euEllle 2 6en 50 prasataeid 25 Gui oyhdleb; 18 Guit &eNSD;
14 Guir ylalwe; 8 Guir sumdlenr wbpid sellgb; 5 Gui GeoollsD  HDID
eledua: 7 Guir oblalwe whHpid SyhisleD urLiisefleyid: Guein 3 Gui epesTDy
urLmsefeuid  Cedueienmisei.  erefles,  ereveurly (e iseflopd  Coiréd)

Qunrsaliaen adsenen Guir 2

Verify the De Morgan's lawA - (BUC )=(A-B)N (A -C) using Venn

diagram.
OR

In a class of 50 studenis_the number of students who passed in the various
subjects is as follows, :\English 25; Mathematics 18; Science 14: English
and Mathematics'8:"Mathematics and Science 5; English and Science 7; all
the three subjecté 3. Find the number of students who failed in all the

subjects.

srieNILEEES : 2x° - x2 _8x+4

2/eV6v g/

2 Lt )9 %% 1903
X

22235 18" x2+3x+2

&(HHGS :

Factorise : 2x3 —x? -8x+4

OR

x2-4x—12xx2—2x—3

Simplify : - .
PR X2 —-8x-18 x”+3x+2
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2)

)

a)

b)’

<)

a)

b)

11 8017
9x* +12x% + 40x% + ax + b CTETUS B (P auissGeile, a, b oy fuper
FILs e s SHTesois. - -

2jevevg/

Sids :x+y=3, y+z=-5 z+x=2.

If 9x® +12x% + 40x%2 +ax+b is a perfect square, find the values of a and b.

OR

Solve : x+y=3, y+z=-5, z+x=2.

Z = 2x + 10y & BUGLIm, wéllieou
2x + by =< 16 '
x<bH |
x20,y=20aem s QuUurRsefler Ly aoyuLb ppab Sress.

(uemuL & srevents LWSTURSSS Caemaulldemen )

Zfebevg
S0 L sdletT 2 L auevasor Lﬁ]ﬁéTGU@LDW@J :
Qewe -2 doll3la 4. sla gl ¢
| & geney (eurphsefle ) 6 8 4 9 2 i
), Qe Sl gdler auamewenBULL ULD cueys.

i) Srepesnhs uTsould, HILsTe SeTamaiyb &Taoms.

Maximise : Z=2x + 10y
Subject to the constraints :. 2x + 5y < 16
' x<5 :
x=z20,y 2. 0 by graphical method.

( Graph‘sheet need not be used ).

OR
A project has the following schedule :
Activity I-—28p2-—3 |2 4|3 5|46 |5—8
Duration in weeks 6 8 4 | SR 2 7

i) Construct the netwoi'k.

i)  Find the critical path and project duration.
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37. o) @B oLl owusHUD, 6118 CleUT (W, [HITE0dTI65T ewwiierefemwyd G&téHeh

38.

a)

b)

<)

3)

a)

b)

Car® BradihE CEerGSSHTED e Hines.
2/ebevg/

A. B. C oow OLWDLTS 2 e W el L Rl QeusfsQsTHevs Glomein Herens).
AB = 4 Qe.8.. BC = 6 Qa.f.. CA = 8 Qa.f., eafle <y hisefle, Hemmhis e

&S0 (DL S eyiD.
Prove that, the line joining the centre and the midspoint of any chord in a
circle is perpendicular to the chord.
OR

Three circles with centres at A,'B and C touch each other externally. If
AB = 4 cm, BC = 6 cm and [CA%= 8 cm, find their radii.
[1.2},{—2,2).{—4-—3]mg')@:.'n[—l.—S]%é\mqsﬁeﬂ&.a’T eI
©) 6050151 505, SODSEGID 6160 ST ([H&.

Zjevevg/
ox &3y + 4 =0,9x + 5y =19, 2x -7y + 12 =0 o Hu Cri&ECar@ad
LeteNler &hbdlédlesTment ereot e ss e shHéen ysieaflowyb &resors.
Prove that the points (1, 2 ), (-2,2), (-4-3)and (-1, -3)forma

parallelogram.

OR

Show that the straight lines 2x — 3y + 4 = 0. 9x + 5y = 19 and

2x — 7y + 12 = 0 are concurrent. Find the point of concurrency.
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40.

21)

1)

a)

b)

<)

o)

a)

b)

13 8017
150 &§ 2 wypeien sp Camyysdlen 2 &éleow Caryysder adQrdli usshsend
2 efren @\meut 30°, 45° ghméd Carenrddler LTTHESDTTSHET ereiley, G@)meumHeHESD
Qe Cu 2 _siten gITH@SHE SIS,
2/ebevgy)

8 Q& 1§ b Gereo oo ol sdlauet Syewhgeien 25 LsekseT Cameton

§p(h P(PRIG L6V Cairesordalest LeHsSSET HensHEss &Teos.

Two men are on the opposite sides of a tower. They measure the.angles of
elevation of the top of the tower as 30° and 45° respectively. If the height of

the tower is 150 m, find the distance between them.
OR
Find the length of a side of a regular polygoniof 25 sides inscribed in a

circle of radius 8 cm.

16, 13, 17, 21, 18 eretip yeirell elleufiis @@ wrpurl 0é Q& pemealsd &mesos.
Sevevg/

BB usLET HE POD 2 BULILGS @D @ioL e @)yeL Teug)
useoL e aumeausHOasT g (& aeusallear gise 10 el QupeshHCeT

b6 DS &6 STeDIe0T ?
Find the'co-efficient of variation of the data : 16, 13, 17, 21, 18.

OR

Two dice are rolled once. Find the probability of getting an even number on

the second die or the total of face numbers 10.

[ Turn over


www.studyguideindia.com

8017 14
ugg - % / PART - D
(GG\uessigsT : 20 ) / ( Marks : 20) 2x10 = 20
ey :

@B JarmeEsE@nsen el wel.

Instruction :

Answer both the questions.

41. =) AB=72Qsif, £ ABD = 45°, £ BAD = 100° BC £ AGls 1§ aciip ST EHES

<)

a)

b)

ABCD er651p 6ulL BTHSHTD CUDTS.
26V

3 Qeif. syweier el b\eorha et ovussdebs 7 Q& .5
Qareoeale P aem.eielowus Ghésan. P Ud®hs el Lgdlhe PA, PB
arerp @iy, C'BTHCHTHSET DS . QerHCsTRa6Mar HeThsHmen HeTbha)

TGS

Construct a cyclic quadrilateral ABCD such that AB = 7-2 cm, £ ABD = 45°,

Z BAD = 100°, BC = 4 cm.
OR

Take a point P at a distance of 7 cm from the centre of a circle of radius
3 cm: From P, draw two tangents PA and PB to the circle. Measure and

write the length of each tangent.
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3)

15 ; : 8017

x* +8x-4-=0 GIGSID FLETUTL DL eUTUL D epeud SiéHs.

4 | Z/EVEVG]

3) xy =18, x, y > 0 Qesr QUETLILID 6UE. Se0sl LLSTURSS x = 3 ergubd Curg)

b)

y &1 wdlueuyc, y = 5 agb Gurg x & walLUWD &Tetrs.

Solve the equation x2+3x-4=0 graphically.
OR

Draw the grapph of xy = 18, x, y > 0. Use the graph to'find y“when x = 3 and

x when y = 5.
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